Time & Work
(Type-5)

A and B working separately can do a piece of
work in 10 days and 15 days respectively. If
they work on alternate days beginning with A,
in how many days will the work be completed?

A iR B Tt e &1 STer-o7er sheeT: 10 fa7 8k 15
A H U T € 19 3 TR R S R E, A TR
o Teet T Y& el 8, o v foha et # o g1 s 2
(A) 8 (B) 6 (C) 12 (D) 16

. .2 1
A and B separately can build a wall in 6 3 and 8 3

days, respectively. If they work for 1 day alterna-
tively, starting with A, in how many days will the
wall be built ?

A 3R B 57Ra-aTRet Pt S g Rt e 6§ sir
S%ﬁ?ﬁwm%mﬁsj{am,w&éwﬁ—wﬁﬁ
T for el g ot R feml J <o S o qe
T?ITQTIT?(CHSL 16-10-2019 II)

(A) 7% days/ f&a (B) 12% days/ <G

(@) 7%days/ﬁ=f (D) 6% days / &
Machines A and B always operate indepen-
dently and at their respective constant rates.
When working alone, Machine A can fill a pro-
duction lot in 3 hours, and Machine B can fill
the same lot in x hours. If A and B worked
alternatively, while each work for 1 hour at a
time, the total work gets completed in 4 hours.
What is the value of x ?

I A T B TG €9 9 STHHAI-ST0 el &7 | &
HT ® | A SThel 3 5 H hE TS HHRd | e
TN B T % I x W H w Rt 7 19 A 791 B
AR T Y 1-1 ¥ HE B QW W 4 5 H TA &
ST | x o1 A 1 hiTor ?
(A) 8 (B) 6

4 DS

4.

Two women, Ganga and Saraswati, working
separately can mow; a field at 8 and 12 hrs
respectively. If they work in stretches of one
hour alternately, Ganga begining at 9. a.m.,
when will the mowing she finished?

T AfeaTd T SR T ST F Sk O
AT 8 3T 12 Fiei T h1e Hehal § | 27e o sl —el § Weh-
ek Hiel T . qT T 9 TS AT BT IE L Al et
o O THI B S 2

(A) 5:30 B)6:230 (€)9:30(D)8:30

A can do a piece of work|in\ 40 days while B
can do the same work in 24 days. If A works
on those days, whi€h are prime number (Eg 1,
2,3, 5, 7y 11/and“so on) while B work on each
day. On which day will they finish the working
together?

A T T T 40 T H 0 w1 § o B SH % H 24
T & e 7 | afg A 37 Tt o o § S fom et
e ® (3:- 1, 2,3, 5,7, 11 T@E) Fafer B 7 &
T HIAT & | 1T H HH FA T A T B R o7
T B 2

(A) 15 (B) 18

(C) 20 (D) 24

A and B start working on a project. They work
alternatively with each of them working for 3
days. If A starts it takes 10 days to complete
the work. If B starts it takes 1/2 more day.

Find the number of days in which they can
finish the work if they work together.

A 3R B T %M & W ¢ | A 3R B dH-dH fe7 & fem
THTHTH wE @ § 1w 10 fa | qu g g afg A wrf
YR LAl § o1 B 1 6 TR i R qUEn H 1/
2 & =1 siferek wHE whTa &, f 9 wifew R S St

firerent fora f & ™ QU AR T 2

(A) 6% days / fe (B) S%days / f&
2 3

(C) 57 days / &= (D) 57 days / f&=
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Mother's JBIVE « A9d 3R Rl

A can do a work in 6 days, B can do it in 8
days and C can complete it in 12 days. If A
starts the work and they work in alternatively,
then in how many days, the work will be com-
pleted?

A forelt s 1 6 T & o TR & 71 B 39 8 oA H o
TR E T C 3/ 12 T H womw o wewar © 9z A w
STREY ThIAT € T A1 S o & 1 R § O I8

foram fem1 o s grm—

3 2 2 2
(A) 62 B) 75 (€55 (D) 65
A, B and C working separately can do a piece
of work in 11 days, 20 days and 55 days re-
spectively. In how many days the work will be
completed if A is assisted by B and C on alter-
nate days?
A, B SR C foret w1 & ster-stem s 11 faad20
feT o¥R 55 fe7 # = werd 1 fora fooi H wvref et &

ST, 41 A T %9 H BATR C & 919 HH.HL2
(A) 2 (B) 6 (C) 4 (D)8

If A, B and€ can do a piece of/work in{30, 20
and 10#days respectively.\ A is{assisted by B
on one day‘and by C on the next day,
alternatvely.\How long would the work take to
finish?

=fe A, B 31X C f# & &1 s1e-s1em 30 &, 20 fea
3 10 fe7 H ¢ Wehd § | TR fe A HES: B % WY
ety 31X 3fel o7 C o Ee fieTert s il © | 51 &l

U A H foha fed e ?
1 3 1 2
(A) 75 (B) 9§ (©) 85 (D) 9g

A, B and C can do a piece of work in 20 days,
30 days and 60 days respectively. In how many
days can A do the work if he is assisted by B
and C on every third day?

A, B & C fordlt & &1 s 20 &, 30 f&7 e 60
fea o o TeRd € | fomem ol §f A 59 1 ol Weieh e fe
B 3R C %! Heg ¥ L Haha1 & ?

(A) 6 (B) 5 (C)20 (D) 15

11.

12.

13.

C is twice as efficient as A and B take three
times of time of C to complete the work. A alone
complete the work in 12 days. If they work in
pairs (eg— AB, BC, CA) and AB on first day, BC
on second day and AC on third day and they
work in same sequence then in how many days
work get completed ?

C I ST A 9 T[T & T forsit e sl W R H B,
C 9 1 T T I € | SToRl A SHT W T 12 e ' g
FAT 7 | Afg A W H wM #@ © (S9- AB, BC, CA)
Tea feT AB, TR &7 BC, o fe AC G188 TR o1
T T &, T FH G H e 37 ol oH o ?

(&) 62

5 day /T

(B) 4.5 day/fed

(C) 5% dayff< (D) 8 day/fed

A, B and C can complete a work in 30, 20 and
10 day respectively. Biand C help A in alter-
nate\days.\Accordingly, in how many days the
work| get ,completed?

A, B 791 C T 1 HHEI: 30, 20 741 10 & § ¢ TR
TIA =1 T &7 & % § B o1 390 o7t &1 C o1 T
AT & | =€t ohH ST =T § | TSR, S g e H fSha
I T2

4 9
(A) SE day/f& (B) 31—3 day/fA

(C) 9% day/fA (D) 4% day/fA

A, B and C can do a piece of work in 10, 20 and 25
days. How much minimum time should be required
to complete this work if more than two persons can
not work in a day and in any two consecutive days
same pair can not work ?

A, B 3R C fomft & &1 10, 20 311 25 e B wer e §
TH M A FA H foRaA1 =Ta9 999 @ | 9fE ek T
T 2 9 SR AR T G T L Hehd T FHM I S TR
7 o =l 8T S weRd ?

(A) 7% days / fea (B) 6% days / fea

13
C) 6— days / fea D) None of these
14
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Mother's Arithmetic * Time & Work

14. A, B and C alone can finish a work in 10, 12
and 15 days respectively. They managed to

1
complete grd of the work in 3 days. Now they

decided to take a leave of 1 day and work al-
ternatively either in pair or individually. Then
find the minimum number of days required to
finish that task (Given, All of them do not work
together)

A, B 3R C 3Tl Tk T 1 AW 10, 12 3R 15 a7 #
T TR © |3 3 e | % T T R o | o=
S 1 T 0t g2t o o1 R R o Sefous s g o
T SISl H a1 AR €9 9 B H Sl ThEe o |98 e
A Y forar feT H qU Sl Aepar § 2 (A1 Uk w1 mm Tl
HAE 1)

A 3% d B 6= d
(A) 5 days (B) 5 days
4 4
(C) 7gdays (D) 8gdatys

15.

TR o TR Tel H A HLd G B Fl 17% A A qu
o THA §, SET T8 e B M 1§ | C 3Tl i i
U 35 feii § | W W AHA ¢ 1 A, B R C T% 91
et fohe i & h QU R Tehd € 2

(A) 5.5 days (B) 7.5 days

(C) 7 days (D) S days
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Mother's JBIVE « A9d 3R Rl

B—> 15 2
A+ B =3+ 2 =5 unit work can do in 2 days
30 unit work can do in 12 days

2. ©aA— 2
B %\12\ 100

Total work = 100 units

If we start with A then work done in 2 days
=15+ 12 =27 units

2 days = 27 units

6 days = 81 units

7 days = 96 units

Remaining 4 units will be completed within
1/3 day

1 1
Then Totaldays =7+ - = 7=
3 3
3. B) x Machine-A 3
3 Machine-B x >3X
ATQ,
X+3+x+3=3x
=>x=6

4.B) A—> 8

5 (C) 3
5 B

work till 19 days —

A will work for 8 days and B will work for 19
days

So, Work=8x3+19x5=119

Remaining work = 120 - 119 =1

Time to finish remaining work =

ul|—

1
So, Total time = 19—

5 days

6. (B) A can finish work in 10 days

1
So work done by A in 1 day = 10

B can finish work in 10.5 days

So work done by Bin 1 day =

10.5
10  10.5
A+B-= —20 S = 5l d
105 ays

So, we can say work will be co on 20%

days when A and B works together.

A+B=20+11=31
A+C=20+4=24
total 55 unit work is done in 2 days
220 unit work can do in 8 days

9.B) A— 30 2
B 20> 60 < 3
Cc— 10 6
A+B=2+3=5
A+C=2+6=8
13 unit work is done in 2 days

52 unit work is done in 8 days
57 unit work is done in 9 days

3
60 unit work can do in 9 3 days

—20
— 3o> 60 <

A+A+(A+B+C)

10.(D)

3+3+6 .oeeeennnenn. in 3 days
12 in 3 days
= 60 unit in 15 days
11. (O A : C
efficiency 1 2
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13. (B)

Mother's Arithmetic * Time & Work

B C
time 3 1
efficiency 1 3
A C B
1 2
3 1
Efficiency—s 3 6 2
Total work = 3x12=36
3day work = (A+B)+ (B+C)+(C+A)

2B+6+2)=22

work on fourth day by (A+B) =5

fifth day work of (B+C) =8
remainingwork = 36-(22+5+8)=1

1
Now, time by (A+C) = 9 day

1
= Time in total work = 55 days

3
Remaining work 3— - days

8
. 3
So, total time = 95 days
10 A 10
5 B 20)100
4 C 25

For minimum time A have to work daily and

should start the work B.

1st day work = (A +B) = (10 +5) =15
2nd day work=(A +C) = (10 +4) =14
So, 2 day work =15+ 14 =29

6 day work = 87
Remaining =100 - 87 = 13

me=1s

13
Total Time = GE day

14.(C) ATQ,

days
+4)+(6+35) =32

So, Total time to finish the work

4 4
=3+1+3+==7—

3 5 days
15.(C) 17 172
A/\B A/\B
8 8 8% 9

2
TW=90A+8B=9B+ 8§A

B=—-A

A
==
T.W = 27+8 = 35

35
(A+B+C) = 5 7 days
C=

35
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